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15 minutes and get the correct question booklet.

While answering the question from the Question Booklet, for
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out of four most appropriate options given, as answer and
darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pen.

Darken the circle of correct answer properly otherwise answers
will not be evaluated. The candidate will be fully responsible
for it.

There are 100 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer.
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Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evalu ated.

After completion of the examination, only OMR Answer-
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of the Answer-Sheet and Question Booklet may be taken
away by the examinee.

This Question Booklet consists of Five Parts:
(i) First Part : General Mental Eligibility - 30 Marks

(ii) Second Part : General Knowledge - 20 Marks
(iii) Third Part : Educational Interest - 30 Marks
(iv) Fourth Part : General Hindi - 10 Marks
(v) Fifth Part : General English - 10 Marks

Each question contains 1 mark. All questions are compulsory.

In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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General Mental Eligibility

Which of the following is different from
the other three ?

(A) Goat
(B) Deer
(C) Buffalo

(D) Leopard

Find the missing number :
2.3.5,8, 12, 17; ...

(A) 23

(B) 21

(C) 22

(D) 19

9120/ TE-DT/PP-E

AT T
QAT G Jegar

A g e dA ] i g2

(A) TR
(B) T
() W

(D) =

o HeEA i 1 hifsTe )
%5358 12, 1% u
(A) 23

(B) 21

(C) 22

(D) 19
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In a dinner party both fish and meat were
served. Some took only fish and some
meat. There were some vegetarians who

Tk U 9 9e1 #§ Joe 3R 1919 g1 94T
T FO A Fod goel AR T A 79 foran
FS WHRIE 1 FS ot WHR 781w

- S -SR-S iED H

did not-accept-either.The-rest-accepted

both fish and meat. Which of the
following Venn-diagrams correctly
reflects this situation ?

w (D
O

@
@

O
-®

faafafga § Q@ 59 91 39 M@ 9@ 21 9
7y feorfa 1 gwiar @ 2

w
O

(B) @
O

(©)

o (©
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4. Which of the following diagrams 4.

represents correct relationship among
Rose, Marigold and Flower ?

oNe)
O

(A)

5. Find the missing number : 3

2,3,4,9,8, 27,16, ..
(A) 87

(B) 75
(C) 81
(D) 68

6. Choose the odd one : 6.

(A) Bhopal

(B) Chandigarh
(C) Jaipur

(D) Patna

Frfafaa § 9 s 9 fo TamE, 11 iR

Tl ¥ A WE G I G § 7

O O
®

o (&)

@ (0
o (OO

(A)

faeT@ HeEA 1 T HifSC |
2.3 4.9.8 27 10w
(A) 87

(B) 75

(C) 81

(D) 68

i =1 gFT
(A) ™
(B) eI
(€) <A
(D) W

#.——_—_——_—__—'—____—
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7.  Which will complete the following letter = 7. frfafaa ster goft =81 wF ol S0 ?
series ?
ce ‘I ,ekmags ce_?2 ,gkmqs
(A) = (A) f =
(B) h (B) h
(€) 1 © 1
(D) e (D) e
8.  Which will complete the following letter 8.  fy=faif@a 31 goft Tl FIF U W ?
series ?
C & & k.-. m, q:ﬂr £ ¢ K 0, 8 €
(A) n (A) n
(B) w (B) w
€) p € p
(D) None of these (D) 37H ¥ g 7RI
9.  Which will complete the following letter 9. 7= &R it =l S o1 HTT ?
series 7
a, z,b,y cw,d, o R G a,zbvyvcwd T 6814
(A) x (A) x
(B) v (B) v
(C) wu (C) u
(D) None of these (D) 3H 9 IS el
10. Find the missing number : 10. foera §@&a 1 71 HifSe )
705, 728, 774, ___, 935, 1050 705, 728, 774, ___, 935, 1050
(A) 844 (A) 844
(B) 845 (B) 845
(C) 846 (C) 846
(D) 843 (D) 843
11. Choose the odd one: 11. fi= = i
(A) 3:21 (A) 3:21
(8] 5:12 (B) 5:125
(C) 7:343 (C) 7:343
(D) 10 : 1000 (D) 10 : 1000
SPACE FOR ROUGH WORK / % &1 & fot s
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Direction : For Q.No’s 12 and 13, study the
following figure carefully and answer the

questions.
A Vﬂlager
Educated - FD| B [\
G 17 y
C > Unemployed
12. Which region denotes educated villagers

13.

14.

who are not unemplﬂ}red ?
(A) D
(B) E
© G
(D) F

Which educated

unemployed villager ?
(A) A
(B) C
(C) D
(D) E

region denotes

What is the minimum number of straight

lines that is needed to construct the

following figure ?

frdor ; wout W@ 12 31 13 & fou Fefafea
o =T SaTqEes TSIAT ITAT o Y9I <h ST
EUELY

12.

13.

14.

17 1 &1 forfera TTeor S ARSI TE &
Ty & 2 |

(A) D

(B) E

< G

(D) F

£ =1 971 fofara SR yTetor Sy g § 2

(A) A
(B) C
€ D
(D) E

A el @ S avEwar aeit ?

(A) 16 (A) 16
(B) 17 T (B) 17
(€ 18 (C) 18
(D) 19 (D) 19
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Set - A

9120/ TF-DT/PP-E 7

Scanned with CamScanner


https://v3.camscanner.com/user/download

15.

16.

17,

In a certain code language, 312" means
‘study very hard’, ‘514" means “hard work
pays’ and ‘357" means ‘study and work’.

Which is code for ‘very’ ?

(A)
(B)
(€)
(D)

Count the number of squares in the given

1

PN W =

figure :

Find the missing term :

11
21
24
26

JR

14

¥

CK

TX

22

17

OS

PV

?

?

KM

(A)
(B)

(©)
(D)

12, 19

19, 12.

24, 38
38, 24

Set - A

work pays’ 3R 357" &1 Haeld ‘study and
work’ &1 ‘very’ % fau s gLss '

(A)
(B)
(©)
(D)

& T
Fifa

1
4
3
2

. afg fordt wikfass v # ‘312 1 Haeld
‘study very hard’, ‘514’ 1 Haed ‘hard

shfa & 9 w1 T&a Ht T

11
21
24
26

14

CK

22

OS5

KM

(A)
(B)
(©)
(D)

12, 19
19, 12
24, 38
38, 24
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18.

19,

20.

" In certain code language, "HOUSE' is

written as ‘MTFWT'. Which word would

be coded as “WATER’ 7
(A) AGEJW
(B) AEGJW
(C) AEJGW
(D) EAGJW

Which letter will come into blank space ?

J] | O
A|C | B
M

(B) R
€ P
(D) Q

Find out which of the following answer
figures completes the figure matrix ?

[N
| |
|| ]

Answer Figures :

T

(D) (I1) () (IV)

(A)
(B)
(©)
(D)

(D)

(11)
(1)
(IV)

9120/ TF-DT/PP-E

18.

19.

20.

afe frdl wisfas w1 § ‘HOUSE' i
‘MTFWI fer@n sin 81 “WATER’ & fag
I Fre H HA-T1 752 AT A11ET ?

(A) AGEJW

(B) AEGJW

(C) AEJGW

(D) EAGJW

@7l T | FIF 91 38R A8 ?

E|J | O
A i B
F M

(A) K
(B) R
<€ P
(D) Q

+ T 3 oo, smpfa Afesm = QU s
%, 9 it ?

L | ] |

1 1] ]
| ||
I a7

| | -\ 55
(D) (1) (1) (IV)

(A)
(B)
(©)
(D)

(D)
(I1)
(II0)

(V)

SPACE FOR ROUGH WORK / T% &1d & o/
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+21:» Find out the figure amongst the options
which can be formed. from the pieces
given in the following figure :

A A e LA
(A) %
(B)

(©) '

&0 (D) g

22. In a certain code language, ‘'PRINT" is
written as “GIIEB’. How would “WATER’
be written in that same code ?

(A) AEBEI
(B) EIAEB
(C) EABEI
(D): EAIBE

23. If + stands for X, — for +, X for — and
+ for +, then find the value of :

25+79—-5%x4+7

(A) 400
(B) 399
AC) 398~
(D) 397

e
L] -'...
Rsi

Set - A

2l

22.

23.

- @@ T faweul 9 98 o 9fa < fr= fesi
W53 & TFHS | T o §

] # Et L

(A)

(B)

gfg feet arahfas vmT 9 ‘PRINT 1
“GIIEB’ fa@ ST 21 @ S wig #°
‘WATER’ &I 9 faE ?

(A) AEBEI
(B) EIAEB
(C) EABEI

- (D) EAIBE

e+ ITAM x & fAw, ~ =1 ST +
% fow, x =1 39 — & fou ok + =
39 + & fau e, o .
25+79—-5x4+7

&1 °M 1A HifeT |

(A) 400

(B) 399

C) 398

'SPACE FOR ROUGH WORK / T% &Td & foi W

(D) 397
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24.

25.

26.

Find out the two signs to be interchanged
for making following equation correct :

6+3X8—-24+2=5
(A)

(B)
(C) + and +

+ and —

+ and X

Find the odd one out:

> [« [&] ¢
(0 (1) my - av)
(A) (@

(B) (1)

(C) ()

(D) (1V)

If ABCD is a square, then which is not

correct ?

D & O

Hk -oj}s

A E B

(A) AE=DH
(B)
©)

(D)

EFGH is a rectangle
Area of square ABCD=4 AAEH
BF|[HD

24.

25,

26.

£ ) Fol =) omag ¥ wee R Ffafes
G0 W& B, FIa RIS

6+3x8—24+2=5
(A) + 3R -
(B) + AR x
(C) + AN +
(D) — 3R +

first &1 91d =ifST |

<+ |4 |y
) (I1) (111 (V)
(a) @

(B) (1)

(C) (1)

(D) (1V)

_b

Ife ABCD T a1 &, a9 1 9 el © 7
b & C

A E B

(A) AE=DH
(B)
() =t ABCD 1 &%ci=4 AAEH
BF|[HD

EFGH U& 3194 B |

(D)

SPACE FOR ROUGH WORK / Th &4 & fod s
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27. Which number will come into plank ? Qe T § FIF 91 3 ST 2
13 49 13 49
9 17 69 9 17 69
13 £ | 29 13 11 59
(A) 5 (A) 5
(B) 9 (B) 9
(C) 10 (©) 10
(D) 7 (D) 7
i
28. How many triangles are there in the freifena sepfa # foeam ELCRY,
following figure ?
(A) 28 (A) 28
(B) 30 (B) 30
(C) 26 (C) 26
(D) 32 (D) 32
SPACE FOR ROUGH WORK / TF &Td & fo1d S8
Set - A 12 9120/ TF-DT/PP-E
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29. How many dots lie opposite to the face
having four dots, when the given figure
is folded to form a cube ?

(A)
(B)
(©)

(D)

e —

30. Find the missing term :

(©)

(D)

9120/ TF-DT/PP-E

29

30.

feu T o =0 Afc Aiew & o1 99 =
@ 4 fogel Ot wae % e foeaa fog

feardt < ?

(©)

(D)

Lo

SPACE FOR ROUGH WORK / T&% &1d & & STg
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31.

32.

33.

34.

' 'SECOND PART
General Knowledge

What:percentage of Gross Domestic
Product of India would be allocated for
development of education ?

(A). 6%
(B) 8%
) 10%
(D) 12%

Who of the following has founded the
Arya Samaj ?

(A) Swami Vivekanand

(B) Swami Shraddhanand

(C) Swami Dayanand

(D) Swami Brahmanand

Which is the first biosphere reserve region
of India ?

(A) Nandadevi

(B) Sunderban

(C) Nilgiri

(D) Great Nicobar | ad

Which one of the following is not a
principle of Basic Education ?

(A) Craft centred education
(B) Literacy '

(C) Dignity of labour

(D) Teﬁching in n.m.ﬂler't't:rngue

31,

32.

23,

34.

ot W

| {7

foer & fawm & fou 9% wE 3R F
fera=n gfasra =g e sAT =nfee ?

(@) 6%
(B) 8%
(C) 10%
(D) 12%

ﬁmﬁfﬁaﬂﬁ’ﬁfﬁmﬁmmaﬁw
%1 ?

(A) T faarerg

(B) Ml AFTT

(C) @t gamg

(D) T SRFT

TR 1 Ueell Siaded G @ A A e ?

(A) +erREt
(B) Y
(C) ARl
(D) T2 FER

et i @ F w AFEE foen F fag

& 72
(A) Treq S faen

By

(C) & = A
(D) =T # freror

' SPACE FOR ROUGH WORK / & & & fod 9ig
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35.

36.

.

38.

Which one of the following is a incorrect ab,

pair ?

(A) Mahatma Gandhi - Wardha Scheme

- (B) Maharishi Aurobindo - The Life

Devine
Vivekanand - Gurukul

(©)

(D) Ravindranath Tagore - Shantiniketan

Which state boundary of India touches 36.

three country ?

(A) Jammu-Kashmir
(B) Slkklm

(C) Himachal Pradesh
(D) Arunachal Pradesh

Main Tin producing stateis : 37.

(A) Jharkhand

(B) Chhattisgarh

(C) Madhya Pradesh
(D) Telangana

The tenure of Lok Sabha 15 cnunfed . 38.

(A) From the date of notification of
election. =
(B) From the date of polling.

(©)

From the date of declaration of

result.

From the date of first session.

(D)

Frefefeaa § § $F 9 Sie] gAfad T8 ¢ 2

(A) HE[H TR - a‘eﬁﬁﬁtm
(B) el srfas - 3 wgw feam

it ¥ frg wa FF E A 2w 9 o
FTal B2

(A) TTEL-FIER
(B) faferm

(C) fenraa wew
(D) 3TEUIEE Wo¥l

(A) FRETS
(B) TUETE
(C) = YW
(D) el

rF T % FTdFe B TTUE S IR S
(A) Frafer sfergemn =it fafa 9

(B) wﬁﬁﬁ:#
(C) uftorm =reon =i fafy |

(D) wem sifeaee =t fafy 9

'SPACE FOR ROUGH WORK / 1% &4 & {1 S°e
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39.

40,

41.

42.

Which of the following statement is not
related to the formative assessment ?

(A) It is organised at the end of the
academic session

(B) It's purpose is to improve the
students” achievement

(C) It is a integral part of teaching

learning process

(D) It provides continuous feedback to
both student and teacher

Due to a violent incident at which of the
following place Mahatma Gandhi had

withdrawn the Non-Cooperation

Movement ?

(A) Champaran

(B) Purnea

(C) Kheda

(D) Chauri-Chaura

Who amongst the following invented the
small pox vaccine ?

(A) Edward Jenner
(B) Robert Koch
(C) Louis Pasteur
(D) Robert Hooke

Which of the following city is largest in
terms of population ?

(A) Delhi

(B) Kolkata

(C) Mumbai

(D) Chennai

SPACE FOR ROUGH WORK / T% &1d & fed wrg

Set- A

39,

40.

41.

42,

FreafafEa 5 9 =1 9 w99 EEEE M

q gefua T8 22

(A) T8 s s ¥ o yiom
ERIE GRS

(B) eI 3evd foenfe=i =t suarfey =
Haeg = #

(C) ¥z drEa-Taam =1 gfwar &1 1w
FTEI

(D) 4e fomnefl o e S &1 Few
yfagfie yem #ar g

frefafaa § 9 frg wm = 8 Bow g
& SHILOT HETCHT el 3 STHednT 3T i
T fear a1 ?

(A) RO
(B) gfvrm
(C) @
(D) =-=r

< 1 1T (191 § 9 forees g @ist T4 ?

(A) TSIE ST

(B) e hid

(C) <Y UR=R
(D) &% &

SAHEA i gfte 9 Fre ® § s e ged
TSR ?

(A) feeeit

(B) hICThIaI

(€) Hex

(D) =T

9120/ TF-DT/PP-E
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43.

44.

45.

46.

In. which of the following year the
Indo-China War was fought ?

(A) 1948

(B) 1950

(C) 1962

(D) 1971

Who has estimated Gross National

Income of a country on the basis of
consumption ?

(A) Marshall

(B) Pigou

(C) Fisher

(D) Paul Samuelson

What is the GDP growth rate for India in
2018-19 at constant prices as per World
Bank Report ?

(A) 7.5 percent

(B) 7.3 percent

(C) - 7.4 percent

(D) 7.2 percent

What is correct about Rajya Sabha 7

(a) It is a permanent house.

(b) It can’t be dissolved.

(c) 1/3 members are retired on every
two years.

(d) It's tenure is 6 years

(A) (a)

(B) (a), (b)

(©) (), (b) (0)

(D) (@), (b), (o). (d)

43.

44.

45,

46.

frefafaa § | f5g ad YRa-dM 48 @90
T 7

(A) 1948

(B) 1950

(C) 1962

(D) 1971

U 297 F TS UL F Y TIAT STH
¥F oTaR 9T fHEs =i 82

(A) e
(B) |
(C) THIR
(D) i HeEH

farga % % wfaaed & AR feor Fiwdl W
¥ 2018-19 H WRA F ferw T =ie] SAR
g FAE?
(A) 7.5 gfav@
(B) 7.3 wfawrd
(C) 7.4 giaw
(D) 7.2 Sfaer

T 9 F foog § Wl ;R 2
(a) % U TR e B
(b) 3 faafeq 7l fwan S Fhd |

(c) 1/3a<Ea uft SR oY W e Wi

H
(d) o= safy 6 99 B
(A) (a)
(B) (a) (b)
(€) (a), (b), (¢)
(D) (a), (b), (c), (d)

e e B —

9120/ TF-DT/PP-E
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47.

48.

(a)
(b)
()

(d)

49.

50.

4C)
(D)~ Camera

List - I

Which of the following is invented by
Charles Babbage ?

(A)
(B)

Microprocessor
. Computer

Internet

Match the f'DHDWiI'lg in the context of
s_ptii_'_ces of the constitution :

ist - List - IT

Weimar Republic
Australia

France

Republic (i)
Emergency (ii)
Constitutional  (iii)

Amendment
South Africa

(d)

Concurrent List (iv)
(@) (b) (c)
(A) @ Gi) (@) (@v)
B) @) (@v) @) (i)
(©) (@) @ @) (i)
(D) (v) (@) @G) (@)

Which unemployment is very serious in
India ?

(A) Rural Unemployment

(B) Disguised Unemployment

(C) Educated Unemployment

(D) Technical Unemployment

Which of these is included in Hardware .

approach ?

(A) Books

(B) Maps

(C) Graph
(D) Television

47.

48.

(a)
(b)
(©)

(d)

49.

50.

g o 3 e § © et g w2

(A) WEHITHE

(B) =PI

(C) TeTA

(D) A

Hfau™ & &d & Hed § grfaa i

gt - 1 T - 11

UWGE| () AR TR

STITTA () smeferan

faurfe TeeA (i) WiE

qeerd] et (iv) <& STt
(@ () (¢ (d)

(A) (1) (@) @ ()

(B) (@) (v) @) (i)

(€) (u) (1) (@v) (W)

(D) (v) (ui) @) (@)

R B Pt s e w2

(A)  TTHOT SRS

(B) ©H IAUSTH

(C) Taféa s

(D) AR USRI

T 9 HIF TedaX & SURTH & TTIa S

g7

(A) T=H

(B) W=

(C) IR@ (UTH)

(D) T
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51.

92.

33.

(D)

(D)

THIRD PART
Educational Interest

Which among the following is not a

function of NCERT ?

(A) To prepare and publish study
material for students and teachers

(B) To launch, organise and strengthen
research work in various aspects of
education |

(C) Allow grants to the universities and

colleges

Revamping of Elementary and

Secondary Teacher Education

Curriculum

Teacher’s class-room behaviour should be
good because :

(A).
(B) Students will be more attentive.
(©)

It will set an example.

Environment would be conducive

to learning.

Students will appreciate it.

(D)

Ancient Indian teachers applied some
psychological principles in educating the
young child. They recognized the role
of :
(4)

(B) Sense and perception in learning

Convent system of schooling.

and teaching.
(C) Gurukul type of schooling.

None of the above.

—_— — ——

9120/ TF-DT/PP-E
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a1,

o2,

B3

g W
foreror erfieter

=14 ¥ ¥ NCERT &1 14 78 8 ?

fyrerer it il & o are S

(A)

() fen ¥ fafvm Teql F SR w

FT IRY, ST SR TR

favafaamerl iR yefaemTal I STIEH
it i TG KT
yrafys iy Areafas foers e
reshd H YR FEAT

(©)

(D)

et &1 F&1 H SIEeR 7991 A =fed,
T :
7% Bl % ol STt WA L1 ¢

(A)

(B) BT 3ifer M < |

(€) drEd & ford sfaa AR TR g
(D) BTH THH! FeEl FL |

gy VR foee FAERaE a6t
TerEa ¥ e i 91 SR REE v
THETEN : /

(A) Tagror w5t i< 95fd
(B) dren, faam # Hogl SR FeaEiHT

(C) T*FA ISia
(D) U 9§ HIE T
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54.

39,

56.

57.

To start any work, continue and
regularise is the process of :

(A) Adjustment
(B) Motivation
(C) Thinking
(D) Attitude

As a teacher, which behaviour of a
student will you consider as a serious

matter ?

(A) If a student asks too many

questions.

(B) If he does not complete his home
work.

(C) If he talks to the students while you
are teaching.

(D) To be slow in studies.

In order to develop rapport with your

pupils, you should :

(A) behave with them in a democratic
way.

(B) guide them.

(C) have communicative ability.

(D) all of the above.

You are interested in teaching profession
because :

(A) Itholds less responsibility
(B) There is financial security
(C) Itis a dedicated profession

(D) There are more number of holidays

Set- A

o4.

20,

56.

57.

SPACE FOR ROUGH WORK / T% &4 & o g

ot =Tl Rl ST A, S @A 3R Frafia
I I 9THaT o Fed ©

(A) GHEESH
(B) ¥om
(C) To=m
(D) sifugf

T forers & 9, 39 9 Ry SIaer 9 o
TR A 9w ?

(A) af T B 98 | I¥9 FHa1 ¢
(B) A 9% 3191 8 F TG

(C) aft S& =119 9el & ©, 98 TN 91 |
a1 T |
(D) YeR ¥ g &I

ferenfeal 4 dier wonfya & fo? emgent e

e

(A) I ARdits TF 9 Faer fwma
1D .

(B) 3= HrlsyH fean s =nfed

(C) EYYYr F Argar BT =ned

(D) S gt

g ey sqeEE | 9 W@ § il

(A) 399 %9 Rt 9t )

(B) TUH fa<iig QRem ¥

(C) 9% & wufdq =ra9d 1

(D) 394 gfedl =t W st gt ¢
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*'58.

DY,

60.

61.

Some students are considerably slow 58.

learners in your class. You will prefer to :

(A) ~teach them separately.

(B) allow them to learn with the general
students.

(C) demote them to lower class.

(D) make arrangements for special

learning programme.

The Chairman of the first education 59.

commission established by Indian
Government after Independence was :

(A) Dr. Radhakrishnan
(B) Dr. Zakir Hussain
(C) Dr. D.S. Kothari
(D) Dr. Mudaliar

Some students do not show z;ny signs of  60.

understanding under such circumstdﬁces.
I would rather not :

(A) waste any time on them.

(B) feel motivated to teach them.

(C) feel impatient but try to simplify.
(D) scold them.

A teacher can guide students very much  61.

effectively, because :

(A) Students obey teacher’s orders

(B) He is the boss of the students

(C) Students fear him

(D) He
psychology

understands students’

Wwﬁﬁmﬁ%ﬁwﬂﬁaﬁ@%’i
T AT 99 H

A) I ST A e

(B) T WM BE 4 w9 A H
et <0

(C) =€ Frach wen § s|Ta w0

(D) o siferTa A F T w0

WAl % 9 YRd WER gR wifua feu
S aTel Yee! T9IeT 3T & o7eus o

(A) Sl THFEH |

(B) . wife g+

(C) & SLUH. HIerl

(D) Sl R

F9 O U0 1 wew T feam, faed 3
7d =il foh 3 Tue W R | TR ° S = e
i< | _

(A) AR R T SAE HTAT

(B) 3% UgM % fad ot sifvmufta &
(C) TR BT W qeAi 'Ell—?rl,mgrﬁgvn H
(D) 3 HIG

Eﬁﬁﬁmwmﬁmﬁmmﬁ
(A) B foe F1 o= 7 €

(B) O %1 9% aF BI1 |

(C) DPHASHHSHE!

(D) <% BT 1 AT G ¢ |
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62. - A teacher is considered eftfective teacher
when he/she :

(A) follows specific methodologies

(B) selects
experiences

variety of learning

(C) has an impressive personality

(D) maintains a high level of pass
percentage of students in the
examination

63. The intelligence of an individual can be
rightly defined as :

(A) A quality of his learned behaviour

(B) A potential fixed quality of the
genes

(C) A natural gift which is inherent in
a person

(D) A constant and unmodifiable
quality of behaviour

64. To educate “according to nature”

means :
(A) toreturn to the natural ways of life.

(B) to provide education according to
the natural laws of human

development.

(C) to study natural law’s and apply
them to educational process.

(D) None of the above.

62.

63.

64.

s o 1 gareenet foees 5 ST
od 9% :

(A) Taferse Taraal o1 S9ar &l

(B) fafaw R & stferm srwar =1 =2A
EXT

(C) TF YHEIE SAfFRd W&l Bl

(D) wi&T H Bl 1 TH-WwE a1 S
pec|

T AR Tl GfGHAT Bl ST JRATT T -

(A) 35 G T SRR i OrET
(B) i =t faifta o

(C) T TFid ygd sAaer Sl At d ffea
el

(D) & fer 3R srufiad+la =@er i
TorE

“gfa & oTEe’ ffem = w1 1Y §

(A) A % UIHfas aldei &l SR dleA

(B) w4 fasr® & grshfas fami & o1&y
forem wem = ~

(C) wrfaen frardl ot 31eaas T IR S
Sfer wfsear & v o

(D) 39U H q Flg 7@
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- 65,

66.

67.

68.

“You have a class which 1s very 65.

heterogeneous in height. You should
allow a seating arrangement :
(A) Which is random .

(B) Where smaller students are allowed
to sit in such a way that they can

see easily
(C) The class activities which is purely
based on heights
(D) That has taller students on one side
The .  responsibility of -allround 66.
development of a child is on :
(A) The teacher
(B) Child himself
(C) Society
(D) Both teacher and parents

How should a teacher behave with the B7.

students ?
(A) Father like
(B) Friend like

(©)
(D) Elder like

General

Person responsible for administration in 68.

a school is :
(A)
(B) Director of Education
(©)
(D)

Principal

Education Officer

None of these

9120/ TF-DT/PP-E 23
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(A) FAfFfE=a
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(C) TS T &g & ATAR

(D) & BE HI TF TWH A3 |

I ¥ "ari fasm & Sweifad g
®: |
(A) Torers W
=Y delh W
HNT G

(B)
(C)
(D) foerw iR wrar-faa A1 ®

firerr 1 BEI ¥ HE1 FGER FT 9ifed ?

(A) Tuar =i ™
(B) Tia =l @E
(C) HMA

(D) ISi T W&

faamer § gvmEs & fou fomieR =afe ©

(A) YEE

(B) Toram & fcwre
(C) foan sAfywi
(D) T q F T
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69. If a teacher is unable to answer pupil’s 69. T & B & U9 il ST oA H 3/HY T
question, he should : 3% 4fed foF 9
(A) say that he will answer after (A) Fe o o 9=yl & 39T 9 Fardd
consultation.
(B) say that the question is wrong (B) e T 997 e/ ©
(C) rebuke the pupil (C) Toeneff & wesi
(D) feel shy of his ignorance (D) 319 1P & forg wifd=T &
70. The principle behind the celebration of  70. fo=mera ¥ ufis ®eri % 7 M & o fagia
religious festivals in school is to : T |
(A) create awareness about different (A) fafisr e=i & 9fa Srsskar @
religion
(B) invoke the feeling of cultural unity (B) WiERfasw Tawal &1 9EAT &1 fawm
EX&|]
(C) bring social harmony (C) WIS WEHTE &M
(D) all of the above (D) 3w 9+t
71. A child in school will be called a problem  71. f9@erd H TF 1% 6l GHEAHE RIS
child when : el ST 79
(A) Heisable to solve problems of other (A) 9% TR F=i FHI FHENST Al §T FA
children.. H g&H Bl
(B) Heis very resourceful in suggesting (B) &% ey & foru 3w wwensdl & gua
good problems for the class. 1 WrEH °99e B
(C) He behaves such that it becomes a (C) TH =ToeRr =X o W Taa es &
problem for the teacher to o T 9uEn Bl
understand him.
(D) None of the above. (D) 39U H | g el
SPACE FOR ROUGH WORK / T® &1 & ot g
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7 A

70

74.

7 s

Sameer is a shy student. What should be
teacher’s most appropriate behaviour
towards him ?

(A) Make him the leader of one of the

group in a classroom activity

(B) Givesindividual attention and often
talks to him

(C) Asks about his behaviour in a

particular situation

(D) Ignores him

The aim of education is to :

(A) Prepare the students for job

(B) Ensure allround development of
personality

(C) Help the students to pass the

examination.

(D) Develop the ability of social

interaction.

Self confidence in a teacher is needed
while he is :

(A) Talking to public

(B) Going on the way
(©)
(D)

Teaching in’his class
Talking to his parents

Children learn best when :
(A)
(B) teacher is knowledgeable

(©)

they are engaged in lecture method

students are motivated and

involved

teacher teaches well

(D)

76

73.

74.

70,

GHI T IHien 91 81 e &1 39 9id
o1 UG SARR F41 Bl =180 ?

(A) TE T HE Tarery H hEl Th 99
1 gfaffer ST 2 |

(B) IH =AfFaTd ®9 ¥ A H 1@ © SR
ST Y WG T T

(C) Tt fove ultfeufa # 9% saemR ¥
Heifera o9 g B

(D) 9 TSRS HLl 2 |

ﬁ?ﬁﬂﬁlﬁ’ﬂ%:

(A) Toenfai i AR T & Fre S
(B) AT & walwior feeprd =l giafeed
h{Hl

advey # faenfelai =) e B9 A e
& Al

IEEERCTG|

©)

(D)

forerer § ercAfavaTd Ft STETIHA & S
de :

(A) ST § AT

(B) TR W< W@l

(C) YU e H STeArd o W@ 8l

(D) ST Ha-Tian § sTd=ia S

I= FaltH 9Ed § 99 ¢

(A) 3= =M fafy g/ Heas @ o
(B) forares SRR @

(C) © Al R go« o

(D) forerer s7=a1 TQI
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76. The three language formula at the lower 76. WRGG T&T ST (1964-66) %! TawIRE g
secondary stage of classes VIII to X e VIII ¥ X @ & =1 areafdas &) 6
recommended by the Indian Education faudig T g T
Commission (1964-66) was as follows :

(A) Mother Tongue + Regional (A), WHIGHTHT + S5 9T+ U
Language + English

(B) Mother Tongue or Regional -(B) HIFHMNT AT gt o + fer + Ui
Language + Hindi + English

(C) Mother Tongue or Hindi + English (C) wrgur A fe<t + SSH + T &niE
+ a Regional Language o

(D) Mother Tongue + Hindi + a (D) W + &l + TR &
Regional Language

77. The major responsibility with which 77. OTel YEEA 9 S[S Wl i 9oy €l e
school personnel have been entrusted is T & T :
that of :

(A) Adjusting social demands to the (A)  FmITSE HIN T QHSE S
needs of the child. ATereehl ¥ |
(B) Adjusting the child to conform to - (B) A 1 GH S THST T AN o STTER
the demands of society. Ead
(C) Changing human nature to (C) HMAT AdER ! WIS ST9estl
conform to the social expectations. HIET STl |
(D) Preparing the child to change the (D) @& I U B gfiEdd @ g TR
society. AT |
SPACE FOR ROUGH WORK / T% &1d o o siig
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78. What is not applicable to National Mid
Day Meal Programme ?

(A) It has been operational since
—— —2000-2001 — —

(B) It is aimed to the goal of
universalization of Elementary

Education

(C) It helps to accomplish the objectives
of Education for sustainable
development

(D) It addresses the issue of
malnutrition among children

79. A teacher involves the students in the
cleanliness activity in the school. This is
an indicative of :

(A) Value development activity
(B) Community based activity
(C) Social awareness activity

(D) Environmental awareness activity

80. If you are planning to write a book for
middle school children, which of the
following should be your main
consideration :

(A) It should contain lots of coloured
pictures.

(B) Itshould provide the latest material
on the subject.

(C) It should logically cover the entire
field of the subject.

(D) It should be with glossy pages and
fine binding.

78. Hl ULE UHARE UISH HIAFE & g9 9
T E?

(A)

I8 99 2000-2001 ¥ gfEnfem & @

1

(B)

(©)

7% WA T31er & e it o T
T Higd B

e Had fasE & fau foan & =y
& 9T HE H GEEF B

(D) 9% aTcThl H FIY S TIT & &

F Gy H T

79. fourer ¥ ww fogres o131/ 30 6l =@
T4l | IS HIA & | 98 AP ¢

(A)
(B)
(©)
(D)

Hed faerra st nifafafy
THEE ARG Tfdfafy
WIS STTEehdl Trafafy
TR0 SISl Tarare

80. 3fs 319 wreafas faemera & faenfdai & fau

Teh T foram &l dar) s @ €, 39 e o
a?ﬂ%g@qﬁ?m% :

(A)

(B)

(©)

(D)

ToH Wgd A Thia fa= 2R =ifew

g fawg 9T Aaa9 9 9 Sl
? |

7g difcheh ®9 ¥ HYUl faw = wfnfem
FHLAT B |

Tod faea oo 3 3am foieg o)
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FOURTH PART/=iqel I 84.

e =t

g1. ufe‘sn'® M 'm wWAeH & Aa § e
2 W 1 gy % sfaria 9 faeR
Fed © 2

(A) < @ Y

(B) T TR HfY 95,

(C) dfs wrHY

(D) Iu &R HiY

82. Frfefige wea-qrHi § F |1 T qAErE
Yrea] o &l WA § 7

(A) =i - H

(B) Hivd - ey

(C) T - YT

83. ﬁﬂlﬁﬁﬁwqﬁ%

(D) 9 il

86.

fomifera ol | S1YS 9T IF | € 7

(A) T ¥, qTe gy #R 9 mrmw‘i‘

TEET TG W T |

(B) S[elel, $RN, s, Haal AR S
Mg R STE T

(C) |TY-FER, T, SR, T,
Wi =1 IS IIHST i T S T ot |

(D) 39 A AT TS €

freifera ® e qerel | A0 IS A
v faran T g ?
(A) TTHT TS ST YT

(B) 378 1 B

(3) TR TS (F) GEHd A e

..ﬁv‘?ﬁﬁf%l” THFYH

(A) (3D T (F) T
(B) (3D W (F) Tow ¥

(C) (37) T () HEl €|
(D) (27) TTera (&) T €

87. .fq:l-ra.rj 'ﬁmi, :ﬂ*gemtr iﬁi.&;mwﬂ
wER Sfarta feifed 3 S W ooy Sag

Y1 HATTER &l § 2

(A) e, fa_ell, <9, a9
(B) e, <vrw, feref, qgMa
(C) deE, qgvd, <3, fereef
(D) Taw, foefl, agye, <
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88.

89.

90.

‘oo ofEl @ Q@ €, FHl 9 g § ol
s & foar @ €1 sg o |y ‘9
faufeaal waw: fF7 ==l F1 gfaffus

(A) U], 3TIRH, IRH
(B) S3TUIGH, &IV, FLUI
(C) 9T, SHT0T, Tl

(D) 3UIEH, AYEHE, AYRH

<= feu o gl H S 9 i W R ?

(A) U F ST FI SMUR Faa T & 6l
¢, a0 =8 3R ueref of ¥

(B) I A HaT Bl &, 39 Teft =med ¥

(C) # 5w gH | T o1, I6H TKE T
fret |

(D) ™ HiEr ga1 At FHfear | faaar
:{

“JoriterE - & % wemefa - # wH T
SHar’’, 39 YA H  qordie’ a9 Herefa’
W% & o1 T form fore &1 Wi gem © 2
(A) 1YV I fas

(B) wred fag

(C) warT fa=

(D) T fos
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91.

92.

93.

FIFTH PART/U¥l9 HTT
General English

——

‘Are you supposing I'm going to take

you out ?

In the above sentence the underlined

words ‘ supposing " and ‘ going * are used

as :
(A) gerund and continuous tense form.
(B) continuous tense form and gerund

(C) both are used as continuous tense
form.

(D) Dboth are used as gerunds.

Choose the incorrect synonym for ‘sure” :
(A) Confident

(B) Convinced

(C) Positive

(D) Surreal

“You'd rather go.........

Choose the correct question tag for the
above sentence.

(A) would you ?
(B) wouldn’t you ?
(C) hadn’t you ?
(D) had you ?
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94. The one word substitution for “to give
somebody the wrong idea or impression
and make them believe something that is
not true’ is :

(i)  mislead

(i) deceive

Choose the most appropriate answer :
(A) Only (i) is correct

(B) Only (ii) is correct

(C) Both (i) and (ii) are correct

(D) None of the above is correct

Read the following passage and answer
question number 95, 96 and 97.

. The four elements of sportsmanship are
often shown being good form, the will to win,
equity and fairness. All four elements are critical
and a balance must be found among all four
for true sportsmanship to be illustrated. These
elements may also cause conflict as a person
may desire to win more than play in equity and
fairness and thus resulting in a clash within the
aspects of sportsmanship. This will cause
problems as the person belive they are being a
good sportsman but they are defeating the
purpose of this idea as they are ignoring two
key components of being sportsman like. When
athletes become too self-centred, the idea of
sportsmanship is dismissed.

Today’s sporting culture, in particular the
base of elite sport, places great importance on
the idea of competition and wining and thus
sportsmanship takes a back seat as a result. In
most, if not all sports, sportsman at the elite level
make the standards on sportsmanship and no
matter whether they like it or not, they are seen
as leaders and role models in society.

95. Is it necessary to strike a balance between ;..

all the four elements of sportsmanship ?
(Choose the most appropriate answer)
(A) No
(B) Yes

.+(C) Any two can be balanced
(D) Only one is sufficient

96. When does the spirit of sportsmanship

die ?

(Choose the most appropriate answer)

(A) When the sportsman becomes too
self centred.

(B) When the player loses the will to
play.

(C) When the sportsman behaves badly.

(D) None of the above.

97. Why has sportsmanship taken a back seat
today ?
(Choose the most appropriate answer)
(A) Due to lack of balance between the

elements.
* (B) Due to drug abuse.

(C) Due to the emphasis on winning.
(D) None of the above.

Directions : (Questions 98-100)

* In each question there is a passage of six
sentences the first and the sixth are given in
the beginning. The middle four sentences in each
have been jumbled up and labelled PQRS. Find
out the proper order for the four sentences.
(Choose the most appropriate ingical_urdef)

e ——————————————————————————————————————————
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98. S1: I usually sleep quite well in train,

but this time I slept only a little.

86 It was shut all night, as usual.

P: Most people wanted it shut and ]
wanted it open.

Q: As usual, I got angry about the
window.

R: The quarrel left me completely
upset.

S: There were too many people too
much huge luggage all around.

Choose the most appropriate answer :

(A) RSQP

(B) SQPR
(C) SQRP
(D) RSPQ

99. S51: Once king Shantanu met a young

and beautiful fisher girl.

56 : Devavrata, the king’s son, asked
him the reason of his sadness.

P: He went to the fisherman and asked
him for her hand in marriage.

Q: The king was extremely sad and
returned to his palace.

R: Hefell in love with fisher girl.

wn

The fisherman agreed to it on
condition that the son of his
daughter should be heir to the
throne of Hastinapur.

Choose the most appropriate answer :

(A) PQRS
(B) PSQR
(C) QSPR
(D) RPSQ

9120/ TF-DT/PP-E
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100.

51 ¢

The heart is pump of life.

All this was made possible by the
mvention of heart lung machine.

They have even succeeded in heart
transplants.

Nﬂwadﬁys surgeon’s are able to
stop a patient’s heart and carryout
complicated operations.

A few years ago it was impﬁSsiblE

to operate on a patient whose heart

was not working properly.

If heart stops we die in about five
minutes.

Choose the most appropriate answer :

(A)

(B)
(©)

(D)

SRQP

SPRQ
SQPR
SRPQ
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